HZM ED VA
E 11 B A S AR 4 HANSAVFLEX

]

£01 KEINRE, B AT
BHEXN1 ER

#£02 KEISNIRS, B AT

FHER 2 2404
gges 1k B hEA K iR

gk BE

L2y -3 DIN 3865

HEEE  BYHERSANYARNEE

[T T

#7

BXZE, BA. ENARAATN TIERENHHEESHEREERNERER.
#R

BEEAXEELHRE

iThiErE

NBR #1451 0 2 5 4

FPM ( ) RI%&E P ER2H
A IRETFUTESEDHMEK0.2;0.5; 2; 3B,

4

BIEN L£HRI ITHEEHIE @d2

(mm)

HZMNW 04 HLED VA 418 L PN 250 6 M 10 x1 14 8 41,0 26,5 17 17 14
HZM NW 06 HLED VA 418 L PN 250 8 M12x1.5 17 12 43,0 28,5 19 19 17
HZMNWO08 HLED VA 418 L PN 250 10 M 14 x1.5 19 12 53,0 38,5 24 22 19
HZMNW 10 HLED VA 418 L PN 250 12 M16x1.5 22 12 55,0 40,5 30 27 22
HZMNW 13HLED VA 418 L PN 250 15 M18x1.5 24 12 57,5 42,5 32 21 27
HZMNW 16 HLED VA 418 L PN 160 18 M22x1.5 27 14 64,0 48,0 36 36 32
HZMNW20 HLED VA 418 L PN 160 22 M26x1.5 32 16 72,0 56,0 46 41 36
HZMNW 25 HLED VA 418 L PN 100 28 M 33 x2 40 18 80,5 64,0 56 50 M
HZMNW 32HLED VA 418 L PN 100 35 M 42 x2 50 20 91,5 70,0 60 60 50
HZMNW 40 HLED VA 418 L PN 100 42 M 48 x 2 55 22 93,0 70,5 70 65 60
HZM NWO03HSEDVA 418 S PN 400 6 M12x1.5 17 12 46,0 31,5 19 19 17
HZM NW 04 HSEDVA 418 S PN 400 8 M 14 x1.5 19 12 46,0 31,5 19 19 19
HZM NW 06 HSED VA 418 S PN 400 10 M16x1.5 22 12 54,0 38,0 24 22 22
HZM NW 08 HSED VA 418 S PN 400 12 M18x1.5 24 12 57,0 41,0 271 24 24
HZMNW10HSEDVA 418 S PN 315 14 M20x1.5 26 14 61,0 43,5 32 21 27
HZM NW 13HSEDVA 418 S PN 315 16 M22x1.5 27 14 64,0 46,0 36 32 30
HZMNW 16 HSEDVA 418 S PN 250 20 M 27 x 2 32 16 71,5 50,0 46 41 36
HZM NW20HSED VA 418 S PN 250 25 M 33 x2 40 18 78,5 54,5 50 46 46
HZM NW 25 HSED VA 418 S PN 250 30 M 42 x 2 50 20 90,5 64,0 60 60 50
HZM NW32HSEDVA 418 S PN 250 38 M 48 x 2 55 22 102,0 71,5 70 65 60

HRRFLL=FER =B S=E - PN=FEEN PB=HAIEEN - 0d2=E/NER

R
HZM ED 131 BEA R IRASE 52, 4
XHZM ED VA 1B, HEA RIRIIE 12, TN

&4
WDV A FEDRIIE RN KT

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
16.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



